495618 - RO 90 DX FEQ 230V 19/04/2013

W02 |00ISD MMM
anbejejed-|003sa4
Bojeiey-|o01sad

CD identifier: 1



495618 - RO 90 DX FEQ 230V 19/04/2013

[43

— S

CD identifier: 2



495618 - RO 90 DX FEQ 230V 19/04/2013

Pos Part No. Description Quantity Price Currency
1 497784 Armature 1 194.73 AUD
2 497780 Field assembly 1 139.73 AUD
3 477835 Slide switch 1 6.45 AUD
4 489421 HO5 RN-F/4 1

5 700539 Socket housing 1 14.88 AUD
6 400584 Raised-head screw 3,5x 16 mm 7 171 AUD
7 477958 Rod 1 7.66 AUD
8 477524 V-ribbed belt 1 28.69 AUD
9 476168 Pressure spring 1 2.27 AUD
10 478193 Stopring 1 4.07 AUD
11 401089 Raised-head screw 1 1.65 AUD
12 477837 Bearing cover 1 7.81 AUD
13 478331 Adjusting wheel 1 5.27 AUD
14 700344 Spring 1 1.94 AUD
15 497469 Elektronic 1 148.74 AUD
16 477451 Extractor tube 1 10.52 AUD
17 497772 Housing 1 86.41 AUD
18 497773 Gear 1 339.26 AUD
19 476176 Rotary knob 1 6.16 AUD
20 476171 Pressure spring 1 2.27 AUD
21 476177 Stellkappe 1 4.80 AUD
22 477519 Felt washer 1 7.51 AUD
23 219069 Raised-head screw 3,0 x 12 mm 4 171 AUD
24 497774 Gear cover 1 42.83 AUD
25 477522 Pressure spring 1 2.27 AUD
26 700656 Buffer 1 44.93 AUD
27 497775 Coupling 1 67.61 AUD
28 476179 Shift-fork 1 6.78 AUD
29 476175 Steuerring 1 6.60 AUD
30 476178 Ring gear 1 10.52 AUD
31 476167 Pressure spring 1 2.86 AUD
32 497776 Gear 1 228.82 AUD
45 476183 Holding plate 1 8.87 AUD
46 476209 Spring washer 2 227 AUD
47 204120 Flat head screw M5 x 8 1 3.83 AUD
48 496777 Bearing bridge 1 43.87 AUD
49 492629 Shut-off brush (pair) 230V 1 38.89 AUD
50 479024 PTC resistor 1 13.58 AUD
51 400798 Ball bearing 1 14.88 AUD
52 477788 Insulating disk 1 3.59 AUD

CD identifier: 3




495618 - RO 90 DX FEQ 230V

19/04/2013

Pos Part No. Description Quantity Price Currency
53 496398 Fan 1 14.88 AUD
54 228725 Raised-head screw 3,5 x 25 mm 2 171 AUD
55 477509 Belt disc 1 19.53 AUD
56 476692 Speed indicator 1 17.59 AUD
57 477836 Bearing bridge 1 34.56 AUD
120 496803 Sanding pad LSS-STF-RO90 V93/6 1 47.27 AUD
130 496802 Sanding pad SSH-GE-STF-RO90 DX 1 39.64 AUD
140 496804 FastFix sanding pad dia ST-STF D90/7 FX W-HT 1 47.27 AUD
150 495623 FastFix sanding pad dia ST-STF D90/7 FX H-HT 1 47.27 AUD
160 495625 Polishing pad PT-STF-D90 FX-RO90 1 46.45 AUD

CD identifier: 4




